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A box contains 15 lambs, 5 of them are | & L Oa ok QO

defective, a lamp are chosen randomly ) ol Wil gdie lalias i 13) ¢ dpna
one after the other without
replacement, then the probability that
the two lambs are defective
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. |If A, B are two independent events of
a sample space and if p(A)=0.6 , P
(B) =0.3, thenp(ANB) = -




If X is normal distribution of variance
196, the coefficient of variation is
56%, then the expectation =




5% = 21,549, xy = t9=gak ¢ YV = k o8
192,¥ x? =91, y? = 431,
n=6 find Pearson's correlation Y=g, Y)Y = Yoak
coefficient and identify its type
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If Y is a standard normal random
variable Then p(|Y| < 1.69) =




In a study about the relation

between the students’ levels in i i .
statistics and physics, the degrees e g il Bl )} Jals pinaal

of six students have been as (o ag) s s Ul (e A ganal
follows ) :
Jdoaadly Las el 5udl) g plaaal) (e S

Degr | Very | Wea | Pass | Goo | Exce
ees Goo k d llent
of d
stati
stics
(x)
Degr
ees
of
phys
ics
v
calculate the Spearman’s rank

correlation coefficient among the

degrees and identify its type




If p(A—B) =04,p(B—A) =
0.3,p(AnB) =0.1

Answer only one question of the
following

1) p(B'/A)
2) p(A'/B)
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If X is a discrete random variable
its probability distribution
function is given by f(x) = %

x €{1,2,3,k}, thenk =

lakite ) pde pide = lS )Y
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If X is a discrete random variable its
probability distribution function is

given by

calculate the standard deviation




If X is a continuous random variable,
its probability density function is
given by

283 2<x<4

f(x) = {T

0 other wise
Find p(X < 3)
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| To study the relationship between
the quantities required of a
particular commaodity (X) in tons
and the corresponding price

(Y) per thousand pounds in six
different periods we had the
following data:

X|13|5]7]6]8]10

Y| 2|4]5]4]6 |8
Find the equation of the regression




If p(A/B) ==, p(B) =1
then p(A N B)=




If X is a normal random variable
with mean p and standard deviation

0.
Answer only one of the following

questions:
1. p(X —u < 1.80)
2. p(ut+o<X<u+2o0)

“““ccé,,\éﬂh. Gl ‘,\,)hi &



















